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Plan Your Work and Work Your Plan

Before creating a lesson plan, it’s essential to understand the art of teaching. Effective teaching
involves connecting with students’ daily lives and revisiting previously learned material. A well-
structured lesson plan is crucial to engaging every student in the classroom. There are three key
components to lesson planning:

A. Curriculum:

A curriculum should be tailored to meet students’ needs and school objectives, avoiding
overambition and haphazard planning, particularly in math education.

B. Instruction:

Teachers can use various methods, such as verbal explanations, visual aids, and inquiry-based
learning, to deliver instruction. The best teachers adapt their approach to suit their students’ needs,
continuously updating their skills and methodology.

C. Evaluation:

Evaluation is a tool to assess not only students’ understanding but also the effectiveness of the teacher’s
instruction. It helps teachers refine their approach and ensure students achieve their full potential.

By considering these three facets, teachers can create comprehensive lesson plans that promote
meaningful learning and student engagement.

D. Long-term Lesson Plan

A long-term lesson plan covers the entire term and typically involves school coordinators outlining
the core syllabus and unit studies. When planning, two crucial factors to consider are:

o Time frame: Allocating sufficient time for each topic to ensure comprehensive coverage.

o Prior knowledge: Assessing students’ existing knowledge of the topic to inform the planning process.
An experienced coordinator will consider the topic’s complexity and the students’ ability to grasp it
within the given time frame. Assigning the optimal number of lessons for each topic is essential to
avoid overspending time on easier topics, which could impact the time needed for more challenging
topics later.

E. Suggested Unit Study Format

Weeks Dates Month Number of Days Remarks
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Short-term Lesson Planning

The responsibility of the course teacher. The term “lesson” originates from the Latin word “lectio,”
meaning the action of reading, but in this context, it refers to the action of teaching a topic in the
classroom. To plan a topic effectively, consider the following suggested format, while also being open
to adapting and improving your approach based on your school’s and colleagues’ methods.

When planning a lesson, consider the following steps:

1. Topic: Identify the topic title.

2. Overview: Assessing students’ prior knowledge of a topic is a crucial step in the learning process,
involving the evaluation of what students already know, understand, and can do related to the topic
before instruction begins.

To assess prior knowledge, teachers can use various methods, including:

o Pre-assessment quizzes or tests to gauge students’ understanding of the topic.
o Class discussions to explore students’ thoughts, ideas, and experiences related to the topic.

By assessing prior knowledge, teachers can create a more effective and engaging learning
environment, ultimately leading to better student outcomes.

3. Objectives: Clearly defining the learning objectives for a topic is a crucial step in the lesson
planning process. Learning objectives specify what students are expected to know, understand, and
be able to do by the end of the lesson or topic.

By clearly defining learning goals, teachers can create a roadmap for instruction, guide assessment,
and promote student understanding, ultimately leading to more effective teaching and learning.

4. Time Frame: Accurately estimating the time required for each topic is vital to ensure a successful
lesson plan. However, class dynamics can be unpredictable, and flexibility is essential to adapt to the
unique needs and responses of each class. Note that introductory sessions often require more time,
but as the topic progresses, students may learn faster, allowing for potential reductions in the
allocated timeframe.

To effectively manage classroom time, teachers should:

 establish a general time frame for each topic,

o Dbe prepared to adjust as needed,

« monitor student progress,

o prioritize essential tasks,

and leave buffer time for unexpected events or questions, ensuring a flexible and adaptive lesson plan.

5. Methodology: This refers to how you will demonstrate, discuss, and explain the topic to your
students. Effective methodology involves using a range of teaching methods to cater to different
learning styles, incorporating technology, providing opportunities for questions and feedback, and
encouraging active learning through group work and problem-solving activities. By using varied
methodologies, teachers can create an engaging, interactive, and student-centred learning
environment that promotes deeper understanding and application of the topic.
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6. Resources Used: Refers to the materials and tools needed to support teaching and learning.

» Tangible materials: Everyday objects that will help students to visualize and understand
complex concepts.

o Printed materials: Exercise books, worksheets, and test worksheets to provide students with
hands-on practice and assessment opportunities.

o Assignments and projects: Longer-term tasks that require students to apply their knowledge
and skills.

« Digital resources: Online tools, software, and multimedia resources, such as educational apps,
videos, and interactive simulations, to enhance engagement and understanding.

By identifying and listing the resources needed, teachers can ensure that they have everything

required to deliver effective instruction and support student learning.

7. Continuity: Continuity refers to reinforcing learning throughout a topic to ensure students retain
and build upon previously acquired knowledge. To achieve continuity, teachers can alternate
between class work and homework, gradually increase task difficulty, use varied teaching methods
and resources, and provide regular feedback and assessment. By planning for continuity, teachers
help students develop a strong foundation of knowledge and skills, making connections between
lessons and topics, and promoting deeper understanding and application of the subject matter.

8. Supplementary Work: To further enhance student learning, teachers can consider additional
activities to complement their instruction.

« Group projects or individual research: Encourage students to work collaboratively or
independently on projects that delve deeper into the topic, promoting critical thinking, problem-
solving, and creativity.

o Presentations or assignments: Provide opportunities for students to demonstrate their
understanding through presentations, reports, or other assignments, helping to develop their
communication and critical thinking skills.

9. Evaluation: Ongoing assessment is essential to monitor student progress, identify areas of

improvement, and inform teaching adjustments. Strategies include:

« Regular quizzes and self/peer correction: Administer quizzes to check students’ understanding
and provide opportunities for self-reflection and peer feedback.

o Formal tests at the end of the topic: Conduct comprehensive tests to assess students’ mastery of
the topic and identify areas where they may need additional support.

« Continuous monitoring of student progress: Regularly review student work, observe their
participation, and engage in one-on-one discussions to inform teaching adjustments and ensure
students are on track to meet learning objectives.

By incorporating supplementary work and ongoing evaluation, teachers can create a comprehensive

and supportive learning environment that fosters student growth and achievement.




Introduction to the Teaching Guide
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Features of the Guide

This teaching guide serves as a comprehensive resource to support educators in designing and
delivering structured, effective, and engaging lessons. Organized into carefully curated sections, it
aims to equip teachers with the tools and strategies necessary to enhance both their instructional
approach and student learning outcomes.

Concept Builder Notes

The Concept Builder Notes provide an in-depth exploration of key topics, offering a clear and
concise framework of essential ideas and concepts. This section is designed to ensure educators
possess a thorough understanding of the subject matter, forming a strong foundation for effective
teaching.

Scheme of Work

The Scheme of Work outlines a meticulously planned roadmap for each lesson, incorporating
well-defined learning objectives, interactive activities, and meaningful assessments. This structured
approach enables educators to deliver lessons with clarity, coherence, and purpose.

Step-by-Step Guide

The Step-by-Step Guide offers a detailed sequence of instructional steps, facilitating seamless lesson
delivery. By breaking down the teaching process into manageable stages, this section provides
educators with a clear framework to ensure lesson objectives are met effectively.

Review Exercises

The Review Exercises section presents a variety of thoughtfully designed activities to consolidate
student learning and assess progress. These exercises assist in identifying areas for improvement and
reinforcing critical concepts, fostering a deeper understanding of the material.

This teaching guide is designed to be a reliable and practical tool, empowering educators to achieve
excellence in teaching and learning. By integrating these resources into your practice, you can create
a meaningful and impactful educational experience for your students.

To enhance accessibility, all resources are also available via QR codes provided at the end of each unit.
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Scheme of Work

Unit: Estimated number of Lessons:

Specific Learning Outcomes

It is the change/improvement that is expected in the Knowledge/attitude/skills of students by the end
of a lesson. The teachers are expected to list the SLO of the lesson in the precise format. There can be
more than one SLO for a lesson, but they should be SMART.

Prior Knowledge Assessment

Here the teacher will list small and clear questions, which will be asked during the lesson to assess
the awareness of the students to teach new concepts and skills. These questions may be asked
randomly or in the form of quiz but should not take too much time. This drill not only demonstrates
the readiness of students to learn as well as creates stimulus for learning.

Teachers are not required to put in black and white, but they must have clear concept of the possible
answers, which are expected from the students, of the listed questions.

Resources

Devise a very short activity or strategy of a few minutes to get the attention of the students and
detach them from the previous lesson. Instead of directly starting with the content of the lesson, this
activity should contain something of interest to children. It could be a small discussion about
scientific exploration, some interesting facts about the current topic or its application in real-life
situations. Even something humorous may be a quality joke (if you can handle the response of
students after that).

Next outline the activities and the steps of teaching in a sequence with clear specifications and their
impact upon learning of the students.

Class Assignment:

Here the teacher will specify the written work, which will be done by students in notebooks during
the lesson in the class.

Home Assignment
Here the teacher will specify the work which will be done by students at home.

Home assignments should be neither the repetition of the same work done in the class nor
something very new in the topic. It should be based on what students have learnt in the class and
either should reinforce the concepts or be the extension of them.

Evaluation

Evaluation should be done within the lesson on any activity which is the part of lesson or teacher
will devise a tool with a clear criterion to assess the learning of students. It should be directly derived
from the learning objectives of the lesson confirming the change/ improvement, which was expected
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in the knowledge/attitude/skills of the students.
Remember that home assignments cannot be used as an evaluation tool.

Teachers should evaluate pupils during and after learning to identify what they have learned and
how well they have learned it. Assessments help teachers understand their pupils’ knowledge and
adjust their approach to help them achieve learning goals.

Assessment is an ongoing process. Pupils can be assessed through formative and summative
assessment. Ways to evaluate teaching and students learning.

Oral assessment: By asking concept check questions.
Written assessment: Through quizzes, games, classwork, homework, test at the completion of the
topic.

Teacher’s assessment: Simplest way to assess pupils’ performance is through conversation that is
engaging them in discussions. To save time just call a pupil and talk about a specific idea, while the
others are working. An other way is observation, while theyre doing activities that are assigned in
the classroom. Pupils’ can also be easily observed by watching them solve one or two questions.

Peer assessment: Pupils provide feedback on their classmates’ work. This helps students understand
their own work and the work of their peers.

Personal assessment: Pupils can evaluate themselves, which will help them think about their own
performance.
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Whole Numbers

Bilingual Concept Builder Notes

Competency 1

Identify the place value of digits in the given number up to hundred thousand. Write the names of
the numbers up to the place value hundred thousand as well as in expanded and standard form.

Stimulus: The pupils are already familiar with counting in four digits. A little recap of reading and
writing the names of four digit numbers will provide a stimulus to start five-digit numbers. Use the
following example on board to elaborate place value of a specific digit up to hundred thousand in
expanded form as well as in words.

Hundred Ten
Therncerival Thousand Thousand Hundred Ten One
865,742

800,000 + 60,000 + 5,000 + 700 + 40 + 2

Eight hundred sixty-five thousand, seven hundred forty-two

Classwork: Let your pupils complete Exercise A under your supervision.

Competency 2

Identify the smaller and the larger number by comparing the number of digits and the digits at the
same place value. Furthermore to this, they will apply the same skill to write given numbers in
‘ascending’ or ‘descending’ order.

Rationale: By now, pupils are well aware of comparison of numbers. Now focus on left-hand side
number. Explain to them how to insert less than greater than, and equal to symbols between the two
given numbers. Elaborate to pupils that while comparing two numbers remember, the number with
more digits is bigger. In the case of the same number of digits, the number with the larger digit at the
place value ‘hundred thousand’ is bigger. If the digits at the place value hundred thousand’ are the
same, the number with the larger digit at the place value ‘ten thousand’ is bigger. In case the digits at
the place value ‘ten thousand’ are also the same, the number with the larger digit at the place value
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‘thousand’ is bigger. In the same way, compare smaller digits if needed.

is equal to

smaller / less than

bigger / greater than

<
>

If the left-hand side number is smaller than the other number, then insert the less than symbol. For

example, 34,543 < 34,553.

If the left-hand side number is bigger than the other number, then insert the greater than symbol.

For example, 12,553 > 12,552.

If the left-hand side number is equal to the other number, then insert the less than symbol. For

example, 294,541 = 294,541.

Classwork: Let your pupils complete Exercise B.

provide them with the opportunity to learn how to write given numbers in ascending and

descending order.
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Unit 1 Whole Numbers

Estimated Number of Periods: 20

Specific Learning Outcomes Number of Periods

Identify place values of digits up to one hundred thousand (100,000). 4 Periods
Read numbers up to one hundred thousand (100,000). 2 Periods
Write numbers up to one hundred thousand (100,000). 3 Periods
Write numbers in words up to one hundred thousand (100,000). 4 Periods
Compare and order numbers up to 5 digits. 4 Periods
Revision 3 Periods

Prior Knowledge Assessment

o Pupils have already learnt to identify the place value of numbers up to 5-digits.

o Pupils are aware of comparing two numbers using symbols and ordering of a set of numbers in
ascending and descending order.

o They are familiar with the idea of greater and lesser, so it shouldn’t be too difficult for them.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
o Hundred thousand place value mat

o Hundred thousand place value grid display poster

o Activity Cards having numerals on one side and their names on the other side.

Front Black

ONE

THREE@ FOUR

FIVE SIX




Written Assignments

Exercises Class Assignment Home Assignment
Q]- (a - f) QZ (a’ b) (% f’ g> h) Q3 (da f’ g, Q]- (g - h) Q2 (d) e) Q3 (a’ ba C)
Exercise A h, 1) Q4 (a, d, e, f, g, h) QS (a, b, e, f, g, Q4 (b C) QS (C d)
h) b b
Ql (a,b,c,d,e) Q2(a,b,c,de) Q1 (f,g.h) Q2(f,g,h) Q3(ab)
Exercise B
Q3(c-h) Q4
Evaluation

Ways to evaluate teaching and students learning.
o Oral assessment

o Written assessment.

o Teacher’s assessment

e Peer assessment

o Personal assessment
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Review Exercise

I. Write the place value of coloured digits.

a. 23,501 b. 361,789 c. 104,365

d. 92,734 e. 69,021 f. 743,000
2. Write the expanded form of the following numbers.

a. 4378 =

b. 92371 =

c. 192656 =

d. 534877 =
3. Write the following numbers in words.

a. 43927 b. 42055I c. 573005

d. 100297 e. 989898 f. 674150

4. Write the following in numerals.
a. Sixty-four thousand, nine hundred forty-one

b. Five hundred forty-nine thousand, seven hundred sixty-three

c. Seven hundred thirty-six thousand, two hundred forty-eight

d. Three hundred twenty-nine thousand, one hundred thirty-two

e. Nine hundred ninety-nine thousand, nine hundred and ninety-nine
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5. Compare the following numbers using symbols <, >, =.

a. 182 8276 b. 26,734 26,834
c. 90,003 89,990 d. 432,561 425,734
e. 123,742 124,742 f. 520,331 520,33

6. Write the following numbers in ascending order.
a. 93,215; 97,563; 90,563

b. 32,674; 23,789; 55,489

c. 12,698;10,258; 13,698

d. 52,340; 54,569; 42,365

7. Write the following numbers in descending order.
a. 13,450; 14,534 10,369

b. 77,129;17,720; 21,717

c. 56,003; 52,009; 59,000

d. 35,952; 39, 457; 63, 458
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tens b. hundreds c. ones d. ones e.tens f. thousands
4378 =4000+300+70+8

92371 =190000 + 2000 + 300 + 70 + |

192656 = 100000 + 90000 + 2000 + 600 + 50 + 6

534877 = 500000 + 30000 + 4000 + 800 + 70 + 7

ooe

a o

Forty-three thousand nine hundred twenty-seven

S

Four hundred twenty thousand five hundred fifty-one

Five hundred seventy-three thousand five

g o

One hundred thousand two hundred ninety-seven

o

Nine hundred eighty-nine thousand eight hundred ninety-eight

=h

Six hundred seventy-four thousand one hundred fifty
4 a. 64,941 b. 549,763 c. 736,248 d. 329,132 e. 999,999
5 a< b< c¢>d>ec< f=
6 a. 90,563;93,215;97,563 b. 23,789; 32,674; 55,489
c. 10,258; 12,698; 13,698 d. 42,365; 52,340; 54,569
7 a. 14,534;13,450; 10,369 b. 77,129; 21,717;17,720
c. 59,000; 56,003; 52,009 d. 63,458; 39,457; 35,952







Number Operations:
Addition and Subtraction

Bilingual Concept Builder Notes

Competency 1

Pupils will learn to add five-digit and six-digit numbers with carrying and apply the same skill to
real-life problems.

Rationale: Pupils have already developed the skills to add four to five-digit numbers with and
without carrying. They are acquainted with numbers having digits at ‘ones; ‘tens, ‘hundreds’ and
‘thousand;, and ‘ten thousand’ Just introduce them with the place value of ‘hundred thousand” and
recap the addition process with some simple examples from five-digit to six-digit numbers.

Classwork: Carry out questions given in Exercise A.

Competency 2

Pupils will learn to subtract the five-digit numbers with borrowing and apply the same skill to
real-life problems.

Stimulus: Pupils have learnt subtraction in previous classes. Elaborate to them that first the digits of

the same place value are written under each other and then subtracted. Ask them small questions
like:

e How will you read 978,45 - 899,562
(899,56 is subtracted from 978,45) or (Subtract 899,56 from 978,45)
e What is being subtracted?
899,56
e From which number subtraction is being carried out?

978,45
978,45

-899.56
78 89

Classwork: Complete Exercise B.
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............... Lesson Plan
Unit 2 Number Operations: Addition and Subtraction
Estimated Number of Periods: 20
Specific Learning Outcomes Number of Periods
Add numbers up to 5 digits. 4 Periods
Solve real-life number stories involving addition of numbers up to 5 digits 4 Periods
Subtract numbers up to 5 digits 4 Periods
Solve real-life situations involving subtraction of numbers up to 5 digits 4 Periods
Revision 4 Periods

Prior Knowledge Assessment

o Pupils have already learnt the addition of 4 digits numbers with and without carrying.
o They can add numbers up to 100 using mental calculations.

o They can subtract 4-digit numbers with and without borrowing.

o They can add numbers up to 100 using mental calculations.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.

¢ Counters

o  White board

o Number cards with digits

o Chart Papers

o Paper chits

o Addition and subtraction number cards.

23 + 23 50 — 32

Written Assignments

Exercises Class Assignment Home Assignment
Exercise A [Q1 (a,b,c,d,e) Q2(e-h) Q4 Q5 Ql(f,g,h) Q2(a-d) Q3
Q6 Q7
Exercise B |Ql (a,b,c,d,e) Q2(e-h) Q4 Ql(t,gh) Q2(a-d) Q3 Q5
Q6 Q7




Evaluation

Ways to evaluate teaching and students learning.

Oral assessment
Written assessment.
Teacher’s assessment
Peer assessment
Personal assessment
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Review Exercise

I. Add the following.

a. 78392 b. 90243 C. 0556
+ 12635 + 8735 + 80357
d 44321 e. 81753 f. 31462
+ 6748 +17842 + 69845

2. Arrange the numbers vertically and solve.

a. 42352 + 67543 b. 24568 + 35312

c. 98756 + 50744 d. 72239 + 8245

e. 68534 + 53| f. 12236 + 8705

3. Subtract the following.

a. 43598 b. 62607 c. 531219
- 26738 - 9058 - 4539]

d. 99012 e. 79240 f. 10000
- 53849 -58526 -532]

4. Arrange the numbers vertically and solve.
a. 74638 - 33545 b. 85964 - 74544

c. 99754 - 68245 d. 64583 - 8245
e. 59004 - 57838 f. 11526 - 8705




OXFORD

Review Exercise . ki eess

5. Solve the following real-life number stories.

a.

f.

There were 36,284 tourists who visited the safari in the months of May
and 47,876 tourist who visited in June. How many tourists visited the
safari in both the months?

. Saad has a bag of 67,388 buttons. If she sells 29,985 of them, how

many are left?

. Haider donated Rs 56,780 to an orphanage for their education and

Rs 46,980 for their food. How much did he donate altogether?

Javeria needs Rs 67,500 to buy a new air conditioner. If she has
Rs 58,450, how much more money does she need to buy the air
conditioner?

. Kanwal travelled 72,367 km in one month. The next month, she

travelled 31,716 km. How much did she travel in the two months?

A farm has 62,648 sheep. If 46,271 sheep are sold, how many sheep
are left?

. A school library has 83,764 books in Urdu and 41,932 books in other

languages. How many books are there in the library altogether?

. In areading competition, Danish reads 73,682 words and Ali reads

Q3,637 words. How many more words does Ali read than Danish?




I a. 9,574 b. 989,770 c. 99,595
d. 111,769 e. 185,913 f. 101,307

2 a. 109895 b. 59880 c. 149500
d. 80484 e. 69065 f. 20941

3 a. 169,060 b. -33,85I c. 77,638
d. 451,663 e. 206,814 f. 44,679

4 a. 41093 b. 11420 c. 31509
d. 56338 e. 1166 f. 282l

5 a. 84,160 tourists b. 37,403 buttons c. Rs 103,760
d. Rs 9,050 e. 104,083 km f. 16,377 sheep
g. 125,696 books h. 19,955 words






Number Operations:
Multiplication and Division

Bilingual Concept Builder Notes

Competency 1

Pupils will learn to multiply a number up to five digits with a number up to three-digits. They will
apply multiplication to real-life problems to find an appropriate solution.

Rationale: Elaborate multiplication with simpler examples and then gradually move to difficult
ones. To teach word problems effectively, a teacher is required to overcome the linguistic barriers of
their pupils. Word problems are always a difficult area of learning. First write the problem on the
board clearly and with the help of small questions, gather all the information given about the
problem. Use them according to the given situation to find the solution to the problem.

Classwork: Complete Exercise A

Competency 2

Pupils will learn to divide given four-digit numbers by two-digit numbers exactly and with leaving a
remainder as well. They will apply the knowledge of division to find the solution to the given real-
life problems.

Stimulus: Pupils have learnt ‘division’ as ‘successive subtraction. Before initiating the process of
division, explain to them the terminology and language related to division i.e.,

588 + 21 = 28
5888 divided by 21 is equal to 28.
588 + 21 = 28
v v
Divident Quotient
the number the result of
being dividing division
Divisor

the number dividing

To elaborate the process of division, use the example given on pages 14, 15, 16, and 17.

Classwork: Let your pupils complete all the problems in Exercise B with your consistent support.

Competency 3

Pupils will apply their ability to add, subtract, multiply, and divide to solve the given word problem.
After comprehending the problem, they will decide which process is required to apply to get an
appropriate solution to the problem.
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A Unit 3 - Number Operations: Multiplication and Division

Rationale: To teach word problems effectively, a teacher is required to overcome the linguistic
barriers of his pupils. Word problems have always remained a difficult area of learning at all age
levels. First write the problem on the board clearly and with the help of small questions, gather all
the information given about the problem. Provide mathematical equivalents of the given words and
phrases in the problem. Use them according to the given situation to find the solution to the
problem.

Classwork: Complete all the problems in Exercise C one by one with thorough explanation of
mathematical equivalents of each phrase and word given in the problem.

Competency 4

Pupils will learn to identify the rule in the given pattern of numbers (which will be based on
addition or subtraction of a fixed number) and use it to list more terms in the pattern of numbers.

Stimulus: Introduce your pupils with the idea of ‘increasing’ and ‘decreasing’ patterns first. Then
elaborate that increasing patterns are formed by adding a fixed number to a term to obtain the next
term. In a decreasing pattern, a fixed number is subtracted every time to get the next term.

2,5,8,11, 14, 17, 20, 23, 26, 29, 32, 35, ...

This is an increasing pattern of numbers as terms are increasing from 2 to 35 and onward.
100, 96, 92, 88, 84, 80, 76, 72, 68, 64, 60, ...

This is a decreasing pattern of numbers as terms are decreasing from 100 to 62 and onward.
Now show elaborate to your pupils, examples given on page 20 and 21.

Classwork: Complete some problems in Exercise D one by one under your supervision and then
leave remaining problems to be done by your pupils independently.
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OXFORD

............... Lesson Plan
Scheme of Work
Unit 3 Number Operations: Multiplication and Division
Estimated Number of Periods: 24
Specific Learning Outcomes Number of periods
o  Multiply numbers up to 4 digits by numbers up to 2 digits. 4 Periods
. 1 e et ; T
89 Ye real hf.e §1tuat10ns involving multiplication of numbers up to 4 4 Periods
digits by 2 digits.
« Divide numbers up to 4 digits by numbers up to 2 digits. 4 Periods
 Solve real-life situations using appropriate operations of addition, )
. o L iy 4 Periods
subtraction, multiplication and division of numbers up to 2 digits.
« R i iven i i dd i ttern by stati tt
ecognise a given increasing and decreasing pattern by stating a pattern 4 Periods
rule.
» Describe the pattern found in a given table or chart. 2 Periods
o Complete the given increasing and decreasing number sequence. 2 Periods

Prior Knowledge Assessment

« Students are familiar with multiplication and division (2-digit number by a 1-digit number)
o They will be able to apply this knowledge to solve daily life problems involving four operations

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
o Array cards
o Multiplication and division cards

(1 x(9](2 x(9][36 - (6](30 - (6]

Written Assignments

Exercises Class Assignment Home Assignment

Exercise A [Ql (c-1) Q2(c-1) Q5 Q6 Q7 Q8 Ql(a,b) Q2 (a,b) Q3 Q4

Exercise B |Q1 (d-i) Q2(d-i) Q3(d-0) Q5 Q6 |Ql(a,b,c) Q2 (a,b,c) Q3 (a,b,c) Q4
Q7 Q8




Evaluation

Ways to evaluate teaching and students learning.

Oral assessment
Written assessment.
Teacher’s assessment
Peer assessment
Personal assessment
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Review Exercise

I. Multiply the following.

a. 598 b. 6437 C. 1109
X 26 X 88 X 73
d 9572 e. 7346 f. 2004
X 34 X 51 X 90

2. Arrange the numbers vertically and solve.

a. 6048 x 53 b. 7973 X 67

c. 9020 x 50 d. 5390 X 68

e. 6086 x 80 f. 5941 xQq
3. Divide the following.

a. 42)6972 b. 88 )1848 c. 35 Y470

d. 79 Y3559 e. 64 Y1600 f. 27 Y4563
4. Solve the following.

a. 6125+10 b. 7392 + 32

c. 1200 + 75 d. 9641 + 3|

e. 2788 + 68 f. 3465 + 55

5. Solve the following real-life number stories.

a. Aliya walks 22,000 steps a day. How many steps will she walk in 25
days?
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b.

f.

A tailor has 3198 m roll of fabric. He has to stitch 39 long curtains.
What would be the length of each curtain?

. A bakery bakes 1738 cupcakes a day. How many cupcakes will it bake

in 24 days?

Khursheed has 1998 chocolates. He packs them equally 54 boxes. How
many chocolates are packed in each box?

. A school collects Rs 25 from each of its students for charity. If there

are 1820 students in the school, how much total amount is collected?

A farmer has 7550 oranges seeds to sow on his farm. If he sows 25
seeds in one row, how many rows will be made?

. Zubair earns Rs 28,900 salary per month. How much money does he

earn in a year?

. Miss Farah has 1560 pages of scrap paper. She wants to make scrap

paper packets for her 26 students. How many pages does each packet
have?

6. Choose the appropriate number operation to solve the following real-life
number stories.

a.

b.

A doughnut shop makes 2160 doughnuts a day. If they pack the
doughnuts in equal boxes of 12, how many boxes will be packed?

There are 20,755 people in town. If 9800 of them are girls, how many
boys are there?

. An NGO plants 21,345 trees in one month and 30,993 in the next

month. How many total trees does it plant in both the months?

A factory makes 2456 toys a day. How many toys will it make in two
weeks?

. Zaib buys 4 cupcakes, and Nuzhat buys 7 pancakes from a bakery. The

cost of one cupcake is Rs 120 and the cost of one pancake is Rs 110.
How much do Zaib and Nuzhat spend altogether?




7. Write rules for each increasing and decreasing pattern.

Pattern Rule

a. 0,2,4,6,8, ..

b. 100, 95, 90, 85, ...

c. 1,115,119, 123 ...

d. 150, 200, 250, 300, ....

e. 9000, 8000, 7000, 6000, ...

8. Follow the rule and write down the first three terms of the pattern.

Rule Pattern

a. Start with 10 and add 12.

b. Start with 12 and add 2.

c. Start with 50 and subtract 6.

d. Start with 93 and subtract 3.

e. Start with 130 and subtract 10.

9. Make your own rule and write down the first three terms using your rule.

My Rule is:

Pattern is: , ,
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. 15548 b. 566456 c. 80957 d. 325448 e. 374646 f. 180360
. 320544 b. 534191 c. 451000 d. 366520 e. 486880 f. 588159
166 b. 2I c. 42 d. 121 e. 25 f. 169

612.5 b. 23] c. 16 d. 3l e. 4l f. 63
82 metres b. 550000 steps c. 41712 cupcakes

37 chocolates e. Rs 45,500 f. 302 rows

Rs 346,800 h. 60 pages

180 boxes b. 10,955 boys c. 52,338 trees
34,384 toys e. Rs 1,250

Rule: Start at 0 and add 2 each time.

Rule: Start at 100 and subtract 5 each time.
Rule: Start at Il and add 4 each time.

Rule: Start at 150 and add 50 each time.

. Rule: Start at 9000 and subtract 1000 each time.

. 10, 22, 34 b. 12, 14,16 c. 50, 44, 38
. 93,90, 87 e. 130, 120, 110




Factors and Multiples

Bilingual Concept Builder Notes

Competency 1

Pupils will learn to identify whether a number is completely divisible by 10, 5, 2, or 3 using the test
of divisibility for each divisor.

Stimulus: Begin your lesson with simple multiplication, like
3x5=15

15 is the product of 3 and 5. We also say 15 is a multiple of 3 and 15 is a multiple of 5. A multiple is
exactly divisible by the given numbers, like

15+5=3 and 15+3=5
‘All multiples of 5 are exactly divisible by 5" and ‘all multiples of 3 are exactly divisible by 3.
Multiples of 10 = 10, 20, 30, 40, 50, 60, 70, 80, 90, 100, 110, 120, ...

All the multiples of 10 are exactly divisible by 10. What is common to all the multiple of 10?2 Give
your pupils time to answer this question. Never discourage your students from asking a ‘simple
question’ or giving a ‘wrong answer. Take the discussion to the conclusion that in each multiple of
10, the last digit on the right is always zero.

Multiples of 10 = 10, 20, 30, 40, 50, 60, 70, 80, 90, 100, 110, 120, ...
Here is the test of divisibility of 10.

Test of divisibility of 10: ‘A number will be completely divided by 10, if its last digit on the right
(place value: one) is zero!

Which of the following numbers are divisible by 10?
123, 250, 557, 500, 7002, 650, 1009, 8200, 1110, 980, 10101, 1000

Test of divisibility of 5: Let us look carefully at the last digit on right (place value: one) of multiples

of 5 and find what is common to all of them.

Multiples of 5: 5, 10, 15, 20, 25, 30, 35, 40, 45, 50, 55, 60, 65, 70, ...

‘A number will be completely divided by 5, if its last digit on the right (place value: one) is zero or 5.
Which of the following numbers are divisible by 52

123, 250, 557, 505, 7002, 650, 1005, 8200, 1110, 980, 10101, 1035

Test of divisibility of 2: Let us look carefully at the last digit on right (place value: one) of multiples

of 2 and find what is common to all of them.
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Multiples of 2: 2, 4, 6, 8, 10,12, 14, 16, 18, 20, 22, 24, 26, 28, 30, 32, 34, 36, 38, 40, 42, 44, 46, 48, 50,
52, 54, 56, 58, 60, 62, 64, 66, 68, 70, ...

Give your pupils ample time to find the common element in the multiples of 2. Guide them to reach
the common digits in the multiples of 2, as

Multiples of 2: 2, 4, 6, 8, 10,12, 14, 16, 18, 20, 22, 24, 26, 28, 30, 32, 34, 36, 38, 40, 42, 44, 46, 48, 50,
52, 54, 56, 58, 60, 62, 64, 66, 68, 70, ...

Notice that the last digit on the right of each multiple of 2 is either 2, 4, 6, 8, or zero.

‘A number will be completely divided by 2, if its last digit on the right (place value: one) is 2, 4, 6, 8,
or zero.

Which of the following numbers are divisible by 22
123, 250, 556, 508, 7002, 655, 1008, 8200, 1110, 984, 10101, 1000
Test of divisibility of 3: Let us look carefully at the multiples of 3 below:

3,6,9,12, 15,18, 21, 24, 27, 30, 33, 36, 39, 42, 45, 48, 51, 54, 57, ...

There is no pattern in the last digits of the multiples of 3. Ramdomly we find 0, 1, 2, 3, 4, 5, 6, 7, 8,
and 9 at the place value of ‘one’ Now explain to your students a new term ‘Ultimate Sum of Digits’ To
find the ultimate sum of digits of a number, we keep on adding digits till we get a single digit. For
example,

587,468

Sum of digits=5+8+7+4+6+8+8+7+4=38
=3+8=11
=1+1=2

The ultimate sum of digits of 587,468 is 2. Now go back to multiples of 3 and find Sum of digits of
each multiple of 3.

Multiples of 3 3 6 9 (12 | 15| 18 | 21 | 24 | 27 | 30 | 33
Ultimate Sum of Digits 3161936193 [6|9]|3]6

36 | 39 | 42 | 45 | 48 | 51 | 54 | 57 | 60 | 63 | 66 | 69 | 72 | 75 | 78
9 3 6 9 3 6 9 3 6 9 3 6 9 3 6

This is evident from the table above that the ultimate sum of digits of the multiples of 3 is either 3, 6,
or 9. So, the test divisibility of 3 can be stated as ‘If the ultimate sum of digits of a number is either 3,
6, or 9, the number is divisible by 3.

Which of the following numbers are divisible by 3?
123, 250, 556, 508, 7002, 655, 1008, 8205, 1110, 984, 10101, 1000

Classwork: Complete Exercise A.
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Competency 2

Pupils will learn to identify prime and composite numbers from 1 — 99.

Stimulus: Pupils have already learnt basic terminology related division as ‘Dividend; ‘Divisor, and

‘Quotient;, introduce the concept of remainder

like

18 =3

)

18

—18

0 ——

18 ~ 4

18

—16

18 =5

18

—-15

18 =5

18

—18

Remainder

Remainder

Remainder

Remainder




Ve
-Zu:”?t/yw d/(composite number) )U&’...J//u’)’ﬁ’ (prime number) 5/ 41 3~F 99— | A
(Quotient) :/’.;Jilau’ (Divisor),:brrz” (Dividend) (}}UYW’L}'}Q dls s JW’U':J}Z: (:}:1& : \.J//

-"%b/d/la?‘/r‘? § (remainder) JL u:a’,' -t Dy

18 ~ 4

18

—16

18 =5

18

—15

18 =5

18

—18

Remainder

Remainder

Remainder

Remainder

P
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4 —— | Remainder

2 —— | Remainder

In given examples 18 is the dividend and 3, 4, 5, 6, 7, and 8 are divisors. Note that 3 and 6 divides
exactly and leaves no remainder while other divisors cannot divide 18 exactly.

So, 3 and 6 are factors of 18.
Factor: A divisor that divides the dividend exactly is called a factor.

Now help the pupils to list the factors without doing actual multiplication and list of all factors of

> 1: 1 > 16:1,2,4,8, 16

> 2:1,2 > 17:1,17

> 3:1,3 > 18:1,2,3,6,9,18

> 4:1,2,4 > 19: 1,19

> 5:1,5 > 20:1,2,4,5,10, 20

> 6:1,2,3,6 > 21: 1,3, 7, 21

> 7:1,7 > 22:1,2,11,22

> 8:1,2,4,8 > 23: 1,23

> 9:1,3,9 > 24:1,2,3,4,6,8,12,24
> 10:1,2,5,10 > 25:1,5, 25

> 11:1, 11 > 26:1,2,13, 26

> 12:1,2,3,4,6,12 > 27:1,3,9, 27

> 13:1,13 > 28:1,2,4,7,14,28

> 14:1,2,7,14 > 29: 1, 29

> 15:1,3,5,15 > 30:1,2,3,5,6,10, 15, 30
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> 1:1 > 16:1,2,4,8,16

> 2:1,2 > 17:1,17

> 3:1,3 > 18:1,2,3,6,9,18

> 4:1,2,4 > 19: 1,19

> 5:1,5 > 20:1,2,4,5,10, 20

> 6:1,2,3,6 > 21:1,3,7, 21

> 7:1,7 > 22:1,2,11,22

> 8:1,2,4,8 > 23: 1,23

> 9:1,3,9 > 24:1,2,3,4,6,8,12, 24
> 10:1,2,5,10 > 25:1,5, 25

> 11:1, 11 > 26:1,2,13, 26

> 12:1,2,3,4,6,12 > 27:1,3,9,27

> 13:1,13 > 28:1,2,4,7,14,28

> 14:1,2,7,14 > 29: 1, 29

> 15:1,3,5,15 > 30:1,2,3,5,6,10, 15, 30
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All the numbers which have exactly 2 factors are prime numbers, like

2,3,5,7,11, 13,17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97,...

All numbers which have more than two factors are composite numbers.

4,6,8,9, 10, 12, 14, 15, 16, 18, 20, 21, 22, 24, 25, 26, 27, 28, 30, 32, 34, 35, 36, 39, 40, 42, 45, 46, 48,
50, 51, 52, 54, 56, 57, 58, 60, 62, 63, 64, 65, 68, 69, 70, 72, 75, 76, 78, 80, 81, 82, 84, 85, 86, 87, 90,
91, 93, 94, 95, 96, 98, 99,...

Note: 1 has only 1 factor i.e., 1 so, it is neither prime nor composite.

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to identify common factors in the list of all the factors of given numbers.
Rationale: Use the example of common factors given on Page 29.

Classwork: Complete Q1, Q2, and Q3 of Exercise C.

Competency 4

Pupils will learn to write the given number as the product of its all Prime Factors.

Stimulus: Elaborate to your pupils that factorization is a process of successive division in which we
choose a factor to divide every time till we get 1 as quotient, like

_ 4120 _6[72
_5]30 4|12
_6]6 _ 3|3

1 1
4x5x6=120 6x4x3=72

In the process of factorisation, if we only choose the factors to divide which are prime then this is
called prime facorisation, like

_ 21120 2|72
_2]60 _2(36
_2(30 _2[18
315 _3
505 3
1
2XxX2x2x%x3x5=120 2X2x2%x3x3=72

Classwork: Complete Q4 of Exercise C.
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Competency 5
Pupils will learn to identify and list multiples and common multiples of the given numbers.

Rationale: Use the explanations of multiples and common multiples given on Pages 30 and 31. After
completing the exercise, elaborate the comaraison of factors and multiples given on Page 31.

Classwork: Complete Exercise D.
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Lesson Plan

Scheme of Work

Unit 4 Factors and Multiples
Estimated Number of Periods: 15

Specific Learning Outcomes Number of periods
o Identify divisibility rules for 2, 3, 5, and 10. 3 Periods
» Use divisibility tests for 2, 3,5 and 10 on numbers up to 5 digits. 2 Periods
o Identify and differentiate 2-digit prime and composite numbers. 2 Periods
« Find factors of a number up to 50. 2 Periods
o List the first ten multiples of a 1-digit number. 2 Periods
« Differentiate between factors and multiples. 1 Periods
« Factorize a number by using prime factors. 2 Periods
o Determine common factors of two or more 2-digit numbers. 2 Periods
o Determine common multiples of two or more 2-digit numbers. 2 Periods

Prior Knowledge Assessment

 Pupils have already learnt the multiplication tables of 2 to 10.
o They can multiply 2-digit numbers with 1-digit numbers.
« They can divide 2-digit numbers with 1-digit numbers.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
o Array cards

« Counters

o Multiplication table charts/cards

o Worksheets

o Activity Cards

Number Divisible by 2 Divisible by 3 Divisible by 5 Divisible by 10

18702 Yes Yes No No

24900

15672

87534

42207

59345




Written Assignments

Exercises Class Assignment Home Assignment
Exercise A | Q1 Q2 (a-h) Q2 (Lj, k1)
Exercise B |Ql(a-h) Q2(e-1) Ql(i-1) Q2(a-4d)
Exercise C | Q1 (f-t) Ql(a-e)

Exercise D |Ql (c-h) Q2 (c-i)

Q1 (a,b) Q2(a,b)

Evaluation

Ways to evaluate teaching and students learning.

o Oral assessment

e Written assessment.

o Teacher’s assessment
e Peer assessment

o Personal assessment
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Review Exercise

I. Which of the following numbers are not divisible by 3? Circle the
numbers.

[ 1832 134 417 6104 33210 ]

2. Circle all the numbers that are divisible by 5?

552 6785 76480 1183 790 1389 70
6637 Q5 55556 3865

3. a. Underline the numbers which are divisible by 2, circle the numbers
that are divisible by 10.

152 830 78 2225 214 647 777
7633l 2676 2570 6003 13130 3876 888

b. From the above box, write all the numbers that are divisible by 2 and
10 both.

4. Encircle all prime numbers and cross all composite numbers from the
box below.

Q 12 23 47 52 6l 74 80
89 33 q7 100

5. Write all the prime numbers between 25 and 40.
6. Write all composite numbers between 65 and 80.

7. List down all the factors of 88.
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8.

10.

12.

13.

List down the factors of each number.
a. I5 b. 2l c. 25 d. 35 e. 42 f. 50

Find common factors of the following.

a. 6and 32 b. 14 and 48 c. 16 and 24

d. 36 and 42 e. 32,48 and 56 f. 20,30 and 40
Express the following numbers as a product of their prime numbers.

a. 56 b. 36 c. 8l d. 90
List down first 3 multiples of 25.

Write first four multiples of each number.
a. 5 b. 12 c. 24 d. 33 e. 45 f. 50
Find first 3 common multiples of the following set of numbers.

a. 4and 10 b. 4and 6 c. I0and I5
d. 30 and 60 e. 20and 50 f. 12and I5
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I 1832, 134, 6104
2 6785, 76480, 790, 70, 95, 3865
3 a. Divisible by 2: 152, 830, 78, 214, 2676, 2570, 13130, 3876, 888
b. Divisible by 10: 830, 2570, 13130
4 Prime Numbers: 23, 47, 61, 89, 97
Composite Numbers: 9, 12, 52, 74, 80, 33, 100
5 Prime numbers between 25 and 40: 29, 31, 37
6 Composite numbers between 65 and 80: 65, 66, 68, 69, 70, 72, 74, 75, 76,

77,78, 80
7 Factorsof 88:1, 2, 4, 8, 11, 22, 44, 88
8 a. I5:1,3,5,15 b. 2I: 1,3, 7, 2l c. 25:1,5,25
d. 35:1,5,7,35 e. 42:1,2,3,6,7,14,21,42  f. 50:1,2,5,10, 25, 50
9 a. 6and 32:1,2 b. 14and 48:1, 2 c. 16 and 24:1,2,4,8
d. 36 and 42: 1,2, 3,6 e. 32,48 and 56: 1, 2,4, 8
f. 20,30 and 40:1, 2, 5,10
10 a. 56=2X%X2X%X2X7 b. 36=2%x2x3x%3
c. 81=3x3%x3x%x3 d. 90=2%X3X3X%x5
Il. 25, 50, 75
12 a. 5,10, 15, 20 b. 12, 24, 36, 48 c. 24,48,72,96
d. 33,66,99,132 e. 45,90, 135,180 f. 50, 100, 150, 200
I3 a. 20, 40, 60 b. 12, 24, 36 c. 30, 60,90
d. 60, 120, 180 e. 100, 200, 300 f. 60, 120, 180







Bilingual Concept Builder Notes

Competency 1

Pupils will learn to identify proper, improper, and unit fractions. They will also learn to read and
write improper fraction as mixed fraction of whole number and a fraction.

Stimulus: Explain your pupils that a proper fraction is a part of whole thing so it is always less than

P

A proper fraction has smaller numerator than the denominator.

one whole thing like

An imprper fraction contains whole objects as well as fraction. An improper a fraction is written as

S A& <R
@ @ &

Total number of shaded parts _ 5

Total number of equal parts in each object 8

An improper fraction has larger numerator than the denominator.

A mixed number is basically an improper fraction, mentioned as a combination of the whole objects
and the fraction.
shaded parts in the incomplete object

Whole Number
Total number of equal parts in each object

A A A A
LA A A V

3 wholes and %

JL
o

A unit fraction contains 1 as its numerator. For example, —, —, ——, —, — and so on.
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L A A AV

5 5
3 whol d=—=3=
wholes and — z
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Classwork: Complete Exercise A.

Competency 2

Pupils will learn to represent mixed numbers as improper fractions and vice versa.

VA AYANA
wea

The above figures show two whole objects and a fraction 5 out of 6. As a mixed number, it can be

written as

5 5
2 whol d=—=2—>
wholes and = <

As an improper fraction it can be written as
Total number of shaded parts 17

Total number of equal parts in each object 6

5 17
That shows = 2 c =6

Note that denominator remains unchanged in both improper fraction and mixed number form.

To change the mixed number to improper fraction, we will use the values from mixed number in the
following way:
Denominator x Whole Number + Numerator

Denominator

Improper Fraction =

6x2+5 12+5 17
6 a 6 6
To convert the improper fraction to the mixed number form, we will divide the numerator by the

Improper Fraction = 2

denominator to get the quotient and the remainder.

17

3 22— Quotient

6) 17

—12

5 ——— | Remainder

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to reduce a given fraction to its lowest or simplest form.



(Y
L Jf’?é Jg/ e JIL4 /)I’Z:/b.aeb/:;/}':' ' (mixed number) s/ &/ J,,V,,U:

T

Fuset b LswsFl ShF L 3/ 60 v NS 26S Lz rJei§ 6 4o
pES

5 5
2 whol d=—=2=
wholes and = o

P ATV I Ty
wSuPE 17

DR AN

17 5 o
il 2 —J/c“.l,//:lb}?

-J)’: ufﬁb J;l" J:(uif (denominator)lf;b‘wjg@}é u;u)ﬁb)gu'/yzb/;;f”é/}
-ZQ/JW’&%}Jg@ufu;/ﬁd/}ﬁ&df}ﬂ:éé&/&ﬁgﬂ/@bj}r)ﬁbyk)ﬁu“/}

Denominator X wJ“( + o
Denominator (/_J|¢, Y4

6x2+5 12+5 17

Al =

e 21y Improper Fraction = 2

6 6 6
-ZQ/(Z:V;VJLC}[)&Jibd“h)'cr’gwlau:ﬁ/t"éLL/J%’J%JJ%L%]/JU/{
17 -
6 2 =Sl
6) 17
—12
5 — > JL

EHFTBE Sk
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Stimulus: The simplest form of a fraction is an equivalent fraction with smallest possible numerator
and denominator. We can get equivalent fractions of L as

4
1x3 _ 3 1x5 _ 5
4x3 12 4x5 20
1x6 _ 6 1x8 _ 8
4x6 24 4x8 32
3 5 6 8 1 : :
15’ 30 24> 33 and 4 are the equivalent fractions.
Out of all the above equivalent fractions, % is the simplest or lowest form.
Equivalent fractions % of can be made in the following way as well.
30+2 _ 15 =5 5 5+5 _ 1
120+-2 60 60 + 3 20 20+5 4
30 15 5 1 : :
120° 60° 20° and 4 are the equivalent fractions.
Out of all the above equivalent fractions, % is the simplest or lowest form.

Classwork: Complete Exercise C.

Competency 4

Pupils will learn to identify like and unlike fractions. They will also learn to compare the given two
fractions and decides left-hand side fraction is smaller or greater than the right-hand side fraction.
Based on the same skill, they will write given fractions in ascending and descending order.

Rationale: Use the explanations given on pages 39 and 40 to get the desired outcomes.

Classwork: Complete Exercise D.




._:,/J— Aunl AGUINR I Fu B e S S Pl e o § S 1S F

1x3 _ 3

4x3 12

1x6 _ 6

4x6 24
w//b’)/_/}ll

0

-ﬁd/fJ;G/)i:Cé./J’la/}
1x5 _ 5
4x5 20
I1x8 _ 8
4x8 32
'3

< (4— - e IR sl sl e h//d/% «J¢ (equivalent fractions) //J)'/"‘(V" L?/d) 44

AES S e PS5 S S

120+2 60

30+2 _15

15+3
60 =3

20+5

5+5

30
SRt

-¢‘J¢Q}{£dlf‘(:—q %rcuﬁu,#“@/d:’/“‘raﬂ‘,ou’/}

1,,30 15 5
120°60° 20
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Lesson Plan

Scheme of Work

Unit 5 Fractions
Estimated Number of Periods: 15

Specific Learning Outcomes Number of periods

« Recognise like and unlike fractions. 2 Periods

« Compare two unlike fractions by converting them to equivalent fractions | 3 Periods
with the same denominator.

 Simplify fractions to the lowest form. 2 Periods
o Identify (unit, proper, improper) fractions and mixed numbers. 4 Periods
» Convert improper fractions to mixed numbers and vice versa. 2 Periods
» Arrange fractions in ascending and descending order. 2 Periods

Prior Knowledge Assessment

o Students understand that a fraction represents a portion of a whole.
o They are accustomed to using halves and quarters in everyday situations

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.

o Chits

o Blocks,

o Rubber bands,
o Fraction charts
o Fraction blocks

o Shape cutouts
o Worksheet




Written Assignments

Exercises Class Assignment Home Assignment
Exercise A | Q1 Q2 (a-h) Q2 (L,j, k1)
Exercise B [Ql (a-h) Q2 (e-1) Q1G-1) Q2(a-d)
Exercise C | Q1 (f-t) Ql(a-e)
Exercise D |Ql (c-h) Q2 (c-i) Q1 (a,b) Q2(a,b)

Evaluation

Ways to evaluate teaching and students learning.

e Oral assessment

Written assessment.
Teacher’s assessment
Peer assessment
Personal assessment
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Review Exercise

Review Exercise

Classify the following fractions as unit fractions, proper fractions,

improper fractions, and mixed numbers.

I I I 8 35 78
% 3 26" 100 >3 % 10
| | | 5 2 7
435 296 200 d g0 I8 T8

. Label the mixed numbers below.

a. b. m
N

BRRE

Write the following as improper fractions.

3 2
a. 6 T b. 5 q
4 2
d. 3 - e. 9 3
Write the following as mixed numbers.
14 /6
“ 73 b 12
40 51
d 5 & 9
Compare the given fractions and fill in the blanks with < or >.
2 3 3 5
@ & — b. v
[ qQ 7 12
“ 12 [0 4 1 28

2/
Ul

—h
)
o[ oo|on

35
4

11
f. 5

C.



6. State whether true or false.

a <

bed
b. % > %
<3
d. % < %
e. % > %

7. Arrange the following fractions in ascending order.
o Fbd 3.3 4
4k “ 3343

8. Arrange the following fractions in descending order.
o 3.3 o %34
“ 002005 R ES



Unit Fractions:

Proper Fractions:

Improper Fraction: %,

267 100

5

6
: ol I
Mixed Numbers: 4 —- 2%’
C.

c.

c.
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Four Operations on Fractions

Bilingual Concept Builder Notes

Competency 1

Pupils will learn to add and subtract given like fractions.

Stimulus: Addition and subtraction of fractions is performed on numerators only provided they are
mentioned with the same denominator i.e., like fractions.

— 13 9 _13-9 _ 4
SNNSSNSSEEEEEEEEN TR -

17 17 17
SESNEEEEEENEEEEEE

Classwork: Complete Exercise A.

Competency 2
Pupils will learn to multiply given fractions in different forms.
Rationale: There is only one rule for the multiplication of fractions i.e.,

Product of all numerators
Product of all denominators

Product of Fraction =

3 4 5 3x4x5 60

To multiply a fraction with a whole, explain to them that every whole number can be written as a
fraction with denominator 1, e.g.,




e ke
-éiu.‘?(gt/@ﬁu'ﬁ:’/ (like fractions) //J&V,:Jb
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9=2_ 71=7L  257= % T 3254# e,

To multiply fractions with whole numbers, just write whole numbers as fractions with denominator
1 and carry out multiplication in the same way as described before.

2 52,5 _2x5 _10

13771371 13x1 13

To multiply fraction expressed as mixed numbers, first convert them to improper fractions as in the
process of multiplying fractions, we need only numerators and denominators.

ZLx]_i:lxl:
3 4 3 4

Tx7 _49_, 1
3x4 12 12

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to divide given fractions.

Stimulus: Like multiplication, in division as well we need only numerator and denominator, no
whole numbers. If you have a mixed number, first change it to improper fraction and then start
division.

Reciprocal: At this level, we cannot explain in depth the concept of reciprocal to pupils. Just
elaborate them that how to get the reciprocal of a given fraction. To get the reciprocal, we simply
change the places of numerator and denominator, like

Reciprocal of = 3 -2

5 3
1

Reciprocal of 9 = Reciprocal of % =5

(Whole number is mentioned as fraction with denominator 1)
1B_5

5 13
(Mixed number as improper fraction)

Reciprocal of 2 % = Reciprocal of

There is no process of division in fractions. While dividing fractions, we change divisor to its
reciprocal and as a result division sign is replaced by multiplication, like

2 L2
/6.3\

Changing the divisor to its reciprocal, will change division to multiplication, as

= X 3 (Reciprocal of 2 _ i)
6 2 3 2



Sk -1 ikt e

2 2,5 _2x5 _10

13771371 13x1 13
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Now simply multiply, as

6 2 6x2 12
S, 5,215
6 3 12
Dividing a fraction by a whole number, like
13 1 13 5 13x5 65

13
Classwork: Complete Exercise 6C.

Competency 4

Pupils will learn to apply the process of multiplication and division of fractions to real-life problems.

Rationale: Start this exercise only when your pupils have mastered the multiplication and division of
fraction. Support your class to understand the story described in each problem. Do write each
problem on board and highlight important words and phrases and mention their mathematical

equivalents.

Classwork: Complete Exercise D.
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Scheme of Work
Unit 6: Four Operations of Fractions:
Estimated Number of Periods: 25
Specific Learning Outcomes Number of periods
« Add fractions with like denominators. 2 Periods
» Subtract fractions with like denominators. 2 Periods
o Multiply a fraction (proper, improper) and mixed number by a whole 5 Periods
number.
o  Multiply two fractions (proper, improper) and mixed numbers. 5 Periods
 Divide a fraction (proper, improper) and mixed numbers by a whole 5 Periods
number.
 Analyse real-life situations involving fractions by identifying appropriate 6 Periods
number operations.

Prior Knowledge Assessment
o The students already know how to add and subtract ‘like’ fractions. They have learnt mixed

fractions, equivalent fractions, ordering and comparing of like fractions.
» Pupils and are knowledgeable about performing number operations.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
 Fraction cards

o Shapes cutouts

o Chits

Written Assignments

Exercises Class Assignment Home Assighment
Exercise A |[Ql(a-f) Q2(a-d) Q3(a-f) Ql(g, h,i) Q2(e,f) Q3 (g h,i)
ExerciseB |Ql(a-h) Q2 (e-0) Q3 (d—i) Ql(i-1) Q2(a—d) Q3(a, b,c)
Exercise C | Q1 (c-i) Q1 (a, b)

ExerciseD |[Q2 Q4 Q5 Q6 Q1 a3
Evaluation

Ways to evaluate teaching and students learning.
o Oral assessment

o Written assessment.

o Teacher’s assessment

e Peer assessment

o Personal assessment
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Review Exercise

Add these fractions.
4 o | 7 2 4 . 6
4 5 4 17 19 . 24
d gt & ortar 55 * %55
. Subtract the following fractions.
12 _ 14 8 _ 4 10 _ 2
“ 5715 97 “r T
18 _ 9 22 _ 9 79 _ 47
4 20 " 20 ® 3535 f- 80 ~ 80
. Solve the following and then simplify the fraction to the lowest form.
5 5 3 4
a.§><2 b.ZZXS C. ﬁxlr d. |2><7
Divide
3 - 21 - 5 -
G'W'q b.T.Ilr c.7.l5
23 . 18 . 7
d'T'23 e 3 f.5q 35
. Solve the following real-life number stories.

a. Ameercrh and her friend ordered a box of doughnuts. Ameerah ate
|2 and her friend ate *- of the doughnuts. How much of the box of
doughnuts did they ecrt altogether?

b. Alihad = q pizza. He ate -%- |2 of it. How much pizza is left?

c. Haider spent 0 of an hour doing science homework and ->- |0 of an
hour doing computers homework. How much time did spend doing

homework?

d. Emaan had l|tre of juice. She drank l|tre of the juice. How
much juice is left?




e. Arecipe requires % cup of sugar to bake a cake. How much sugar

would be needed to bake 4 such cakes?

f. The tailor cuts a lace 23—6 m long into 13 equal pieces. What is the

length of each piece of lace?

g. Ahmed spends % of his monthly salary. How much of his total salary
does he spend in a year?

h. A zookeeper feeds % kg of total meat to 5 lions equally. How much
meat does he feed each lion?



| a. % b. %

2 a % b. %

3 a % b %

4 a. % b. %

5 a. %d ughnuts
d. %cups

g. 9.29kg

T e. & f. 22
. A - 4
- d. L
cor 44

pizza left C. %litres

m f. %ofthe total salary



Bilingual Concept Builder Notes

Competency 1

Pupils will learn to identify the place value of a digit written after decimal point.

Rationale: Use the explanations given on pages 48 and 49.

Classwork: Complete Exercise A.

Competency 2

Pupils will learn to convert the given fractions to decimals with denominator being a multiple of 10.

Rationale: Use the explanations given on pages 50 and 51.

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to convert fractions to decimals.
Rationale: Use the explanations given on pages 50 and 51.

Classwork: Complete Exercise C.

Competency 4

Pupils will learn to convert decimals to fractions.
Rationale: Use the explanations given on pages 52 and 53.

Classwork: Complete Exercise D.

Competency 5

Pupils will learn to add given decimals.
Rationale: Use the explanations given on pages 53 and 54.

Classwork: Complete Exercise E.

Competency 6

Pupils will learn to subtract given decimals.
Rationale: Use the explanations given on pages 54 and 55.

Classwork: Complete Exercise F.
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Competency 7

Pupils will learn to multiply the given decimals with the given whole number.
Rationale: Use the explanations given on pages 55 and 56.

Classwork: Complete Exercise G.

Competency 8

Pupils will learn to divide the given decimals by the given whole number.
Rationale: Use the explanations given on pages 57.

Classwork: Complete Exercise H.

Competency 9

Pupils will learn to round off the given numbers to nearest 10, 100, and 1000.

Stimulus: Rounding off a number to nearest 10 means to find the number in tens closest to the
given number.

The process of rounding off appears very simple when learnt but for the pupils of class 4, it is a
multi-skills complicated process. To round off a number to nearest 10, first introduce them with the
list of numbers in tens as given below:

10, 20, 30, 40, 50, 60, 70, 80, 90, 100, 110, 120, 130, 140, 150, ...
Let as round off 110,117, and 133 to the nearest 10.
e 110 is part of the numbers in tens so, it doesn't require rounding off to the nearest 10.

e 117 does not belong to the list of numbers in tens so, it has to be rounded off to the nearest 10.
In the list of the numbers in tens, 117 exists between 110 and 120.

< ~ o
« » K

Y

o o

o o o o o o o o
) 4 a4 a4 a4 v v a4 a4

110 111 112 113 114 115 116 |l117] 118 119

—_
NI 4

0

The distance of 117 from 110 and 120 is shown in the diagram above. Everybody can see that 117 is
closer to 120 than 110 so, 117 to the nearest 10 is equal to 120.

133 does not belong to the list of numbers in tens so, it has to be rounded off to the nearest 10. In the
list of the numbers in tens, 133 exists between 130 and 140.
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The distance of 133 from 130 and 140 is shown in the diagram above. It can be easily noticed that
133 is closer to 130 than 140 so, 133 to the nearest 10 is equal to 130.

Rounding off a number to nearest hundred means to find the number in hundreds closest to the
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given number. First introduce them with the list of numbers in hundreds as given below:
100, 200, 300, 400, 500, 600, 700, 800, 900, 1000, 1100, 1200, ...

To round off 876 to the nearest 100, notice that 876 exists between 800 and 900. Draw a number line
like below and mark the position of 876 on it.

<
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< >

——————¢
800 810 820 830 840 850 860 870 T 880 890 900

876

The distance of 876 from 800 and 900 is shown in the diagram above. It can be easily noticed that
876 is closer to 900 than 800 so, 876 to the nearest 100 is equal to 900.

In the same way rounding off to nearest 1000 can be explained.

Classwork: Let your pupils complete Q1 of Exercise I.

Competency 10

Pupils will learn to round off the given decimals to nearest whole numbers.

Rationale: Use examples 5 and 6 given on page 59 to elaborate the rounding off to nearest whole
numbers.

Classwork: Let your pupils complete Q2 of Exercise I.

Competency 11

Pupils will learn to apply the process of addition, subtraction, multiplication, and division of
decimals to real-life problems.

Rationale: Start this exercise only when your pupils have mastered the functions of decimals.
Support your class to understand the story described in each problem. Do write each problem on
board and highlight important words and phrases and mention their mathematical equivalents.

Classwork: Complete Exercise J.
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OXFORD
Lesson Plan

Scheme of Work

Unit 7 Decimals
Estimated Number of Periods: 28

Specific Learning Outcomes Number of periods
o Recognise a decimal number as an alternative way of writing a fraction. 2 Periods
» Express a decimal number as a fraction whose denominator is 10, 100 or 2 Periods
1000.
« Identify and recognise the place value of a digit in decimals (up to 3 Periods
3-decimal places).
« Convert a given fraction to a decimal if: 4 Periods
. - denominator of the fraction is 10, 100 or 1000.
. - denominator of the fraction is not 10, 100 or 1000 but can be
converted to 10, 100 or 1000.
o Convert a decimal (up to 3-decimal places) to fraction. 2 Periods
o Add and subtract 3-digit numbers (up to 2-decimal places). 2 Periods
o  Multiply a 2-digit number (up to 1 decimal place) by 10, 100, and 1000. 2 Periods
o Multiply a 2-digit number with 1 decimal place by a 1-digit number. 2 Periods
o Divide a 2-digit number with 1 decimal place by a 1-digit number 2 Periods
 Solve real-life situations involving 2-digit numbers with 1 decimal place 2 Periods
using appropriate operations.
« Round off a whole number to the nearest 10, 100, and 1000. 2 Periods
o Round off decimal (with 1 or 2 decimal places) to the nearest whole 2 Periods
number.

Prior Knowledge Assessment

o Students have previously worked with whole numbers and fractions.

o They are familiar with addition and subtraction of numbers.

o This knowledge will help them add and subtract decimal numbers.

« Understanding division aids in converting fractions to decimals and vice versa.
o Students will be able to recognize the place value of digits in decimals.




Lesson Plan

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
o Prepare Fraction number cards
o Prepare Decimal number cards

4

0.14

Written Assignments

Exercises Class Assignment Home Assignment
Exercise A | Q1 (d-j) Q1 (a, b, c)
ExerciseB |Ql (e-0) Ql(a-d)
ExerciseC |Ql (c-i) Q1 (a, b)

Exercise D |Ql(a—i)

ExerciseE | Q1 (d-1) Qil(a, b, )
ExerciseF | Q1 (d-i) Q1 (a, b, )
Exercise G |Ql(a—h) Q2 (c—h) Q2 (a, b)

Exercise H | Q1 (c—h) Q1 (a, b)

Exercise | Ql (a-f) Q2 (a—f) Ql (g, h) Q2 (g, h)
Exercise J Q 2, Q3, Q4, Q5, Q6 Q1

Evaluation

Ways to evaluate teaching and students learning.
o Oral assessment

o Written assessment.

o Teacher’s assessment

o Peer assessment

o Personal assessment




Review Exercise

I. Write a fraction and decimal for each shaded region. The first one has
been done for you.

Ty

decimal: decimal: ___ decimal:
fraction: fraction: fios o e
d. . f.

\
decimal: decimal: decimal:
fraction: . fraction: . fraction:

2. Write the place value of the following.
a. 6.02 b. 52.346 c. 8.273 d. 3.539
3. Write the place value of the highlighted digit
a. 32.327 b. 86.205 c. 64.39
d. 1.734 e. 5.004
4. Convert the following into decimal numbers.
65 7635 3518
“ 0 > 000 7100
280 8 379
4 00 ® 7000 5
5. Convert the following decimals into fractions.
a. 0.7 b. 0.9 c. L4

d. 2.6 e. 3.15 f. 5.78
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6. Add the following.

a. 4.28+2.6 b. 6.53 +3.67 c. 0.04+0.73
d. 9.2 +1.18 e. 15.4+9.68 f. 21.63 + 73.04
7. Solve the following.
a. 76.4-28.3 b. 9.44 - 6.37 c. 15.8-8.9
d. 0.8 - 0.04 e. 61.1-3.87 f. 17.5-16.6
8. Multiply.
a. 6.4 x2 b. 7.8 %3 c. 5.0x8
d. 0.3x19q e. 0.Ix4 f. 25x5
9. Round off the following to the nearest 10, 100, and 1000.
a. 921 b. 782 c. 295
d. 333 e. 6177 f. 8529
10. Round off the following decimal numbers to the nearest whole numbers.
a. 68.24 b. 20.9 c. 84.05
d. 326.56 e. 424.37 f. 555.50

Il. Solve the following real-life number stories.

a. Fariha reads one page of her book in 3.2 minutes. How long would she
take to read 10 pages?

b. A carpenter uses 4.5 m of oak wood and 6.3 m of timber. How much
wood did he use altogether?

c. Sarah made 2.5 kg biryani. She sold I.7 kg of it. How much biryani is
left?

d. A tailor cuts 3.6 m of lace into 9 equal pieces. How long is each piece
of lace?

e. The goats at the farm are fed 23.9 kg of fodder every day. How much
fodder will be fed in a week?

f. To make curry, the chef added 9.5 g of chilli powder and 5.4 g of salt.
How much spice and salt did he use altogether?

g. The blue ribbon is 10.5 m long and the red ribbon is 7.6 m long. How
much longer is the blue ribbon than red ribbon?
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| a.06, 8 b 04 4 c 088 do0a 2 e 053 23

10 10 10 10 > 100
f. 028, 28
2. a. Place value of 6 is one b. Place value of 5 is tens
Place value of 0 is tenth Place value of 2 is ones
Place value of 2 is hundredth Place value of 3 is tenth
Place value of 4 is hundredth
Place value of 6 is thousandh
c. Place value of 8 is ones d. Place value of 3 is ones
Place value of 2 is tenth Place value of 5 is tenth
Place value of 7 is hundredth Place value of 3 is hundredth
Place value of 3 is thousandth Place value of 9 is thousandth
3 a. hundredth b. thousandth c. tenth
d. tenth e. thousandth
4 a. 6.5 b. 7.635 c. 3.518 d. 2.80 e. 0.008 f. 37.9
g. 0.6 h. 9.45 i. 0.25 j. 1.496 k. 0.16 l. 0.425
5 a L b c. x=L d 2h=23e 33=33
f. 278 =531 g. £33 h AL i AL
6 a. 6.88 b. 10.2 c. 0.77 d. 10.38 e. 25.08 f. 94.67
8 a. 12.8 b. 23.4 c. 40 d. 2.7 e. 0.4 f. 12.5

9. 64 h. 810 i. 3700 . 5 k. 20 l. 900




. 920, 900
. 330, 300
. 5320, 5300, 5000

b. 780, 800
. 6180, 6200, 6000
. 1860, 1900, 2000

. 32min b. 10.8 d. 0.4 m

c. 300, 300

f. 8530, 8500, 9000
i. 2460, 2500, 2000
e. 424 f. 556
e. 1673kg f. 149¢g



Length, Mass, and Capacity

Bilingual Concept Builder Notes

Competency 1

Pupils will learn to convert Km to m, m to cm, and cm to mm.

Rationale: Pupils have already learnt in previous classes that

1 Km = 1000 m

To convert a given length in Km to m, multiply the number by 1000, like
5km =5 x 1000 m = 5000 m

Im =100 cm

We know that
To convert a given length in m to cm, multiply the number by 100, like

5m=5x1000 cm = 5000 cm

lcm = 10 mm

We know that
To convert a given length in cm to mm, multiply the number by 10, like
5cm =5 x 10 mm = 50 mm

Classwork: Complete Exercise 8A.

Competency 2

Pupils will learn to add or subtract the given lengths with the same unit and apply the same skill to
solve the given real-life problems.

Rationale: Use examples 1, 2, and 3 given on pages 62 and 63 to elaborate the process to add or
subtract the lengths with the same unit.

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to convert Kg to g.
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QRESRD Unit 8 - Length, Mass, and Capacity

Rationale: Pupils have already learnt in previous classes that

1 Kg=1000g

To convert a given mass in Kg to g, multiply the number by 1000, like
5Kg=5x1000g=>5000g

Classwork: Complete Exercise C.

Competency 4

Pupils will learn to add or subtract the given masses with the same unit and apply the same skill to
solve the given real-life problems.

Rationale: Use examples 1, 2, 3, and 4 given on page 65 to elaborate the process to add or subtract
the masses with the same unit.

Classwork: Complete Exercise D.

Competency 5
Pupils will learn to convert | (liter) to ml.

Rationale: Pupils have already learnt in previous classes that

11=1000 ml

To convert a given mass in | to ml, multiply the number by 1000, like
51=5x 1000 ml = 5000 ml

Classwork: Complete Exercise E.

Competency 6

Pupils will learn to add or subtract the given capacities with the same unit and apply the same skill
to solve the given real-life problems.

Rationale: Use examples 1, 2, 3, and 4 given on pages 67 and 68 to elaborate the process to add or
subtract the capacities with the same unit.

Classwork: Complete Exercise E
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OXFORD
Lesson Plan

Scheme of Work

Unit 8 Measurement: Length, Mass, and Capacity
Estimated Number of Periods: 25

Specific Learning Outcomes Number of periods
o Use standard metric units to measure the length of different objects. 2 Period
« Convert larger to smaller metric units (2-digits numbers with one 3 Period

decimal place):
o kilometres into meters - meters into centimetres
o centimetres into millimetres

« Add and subtract measures of length in same units. 2 Period

« Use standard metric units to measure the mass of different objects. 2 Period

» Convert larger to smaller metric units (2-digit numbers with one decimal 3 Period
place):

o kilograms into grams
» grams into milligrams

« Add and subtract measures of mass in same units. 2 Period

» Use standard metric units to measure the capacity of different containers. 2 Period

« Convert larger to smaller metric units (2-digit numbers with one decimal 3 Period
place)

o litre into millilitres.

o Add and subtract measure of capacity in same units. 2Period

 Solve real-life situations involving conversion, addition and subtraction 3 Period

of measures of length, mass and capacity.

Prior Knowledge Assessment

o Students have experience with units of length, mass, and volume/capacity.
o They are familiar with adding, subtracting, and converting these units.
o Their knowledge includes working with the same units for these operations.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
«  Weighing balance

o Object of different sizes

« Ruler

o Metre stick

o Conversion chart

o Containers of different capacities




« Empty bottles

Written Assignments

Exercises

Class Assignment

Home Assignment

Exercise A

Ql(d-1) Q2(d-j) Q3(a-g)

Q1 (a,b,c) Q2 (a,b,c) Q3 (h,L,j)

Exercise B |[Ql (e-i) Q2 (a-f)Q3Q4 Q7 Q8 Q9 Ql(a-d) Q2(gh,i) Q5,Q6
Exercise C | Q1 (e -1) Q1 (a,b, ¢, d)
Exercise D |Ql (a-i) Q2 (a-f) Q2 Q3 Q2 (g, h,i) Q5,Q6,Q7
Q4 Q8 Q9
Exercise E | Q1 (d-1) Ql(a, b, ¢)
Exercise F |Ql1(d-i) Q2(a-f) Q2 Q5 Ql(a,b,c) Q2(g, h,i) Q3 Q4

Evaluation

Ways to evaluate teaching and students learning.
e Oral assessment

e Written assessment.

o Teacher’s assessment

o Peer assessment

o Personal assessment
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Review Exercise

I. Convert the following as required.

a. 50km=____m b. 250cm =______ mm
c. 723m=_____cm d. 65cm = mm
e.4hm =__  cm f. 78km =____ m

g.33m =____mm h.80m =____ cm

2. Solve the following real-life number stories.

a. The construction worker used 48 m of concrete pipe and 56 m of PVC
pipe. How much pipe did he use altogether?

b. On Monday, the red bus travelled 96 km while the blue bus travelled
77 km. How much more did the red bus travel?

c. Saadis 178 cm tall and Aliis 156 cm tall. How much taller is Saad than
Ali?

d. Ayesha walked 3 km in the morning and 6 km in the evening. How
much distance did she walk altogether?

3. Convert the following as required.

a. 69kg = g b.6A9g=___  mg
c. 326kg=__ g d. 63g = mg
e. 124kg = g f.39g = mg
g. 75kg =g h. 55g = mg

4. Solve the following real-life number stories.

a. A shopkeeper had 35 kg of watermelons. He sold 27 kg. How many
kilograms of watermelons are left?

b. In a basket, there are 350 g of peanuts and 777 g of cashews. What is
the total mass of nuts?

c. The cement bag weighs 128 kg and the pebbles bag weigh 222 kg.
How much heavier is the bag of pebbles?
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d. For a cake, the baker added 350 g of flour and 175 g of cocoa powder
to make cookies. How much flour and cocoa powder did she use
altogether?

5. Convert | to ml.
a. 391 b. 741 c. 89l
d. 121 e. 8l f. all
6. Solve the following real-life number stories.

a. The capacity of a serving bowl is 750 ml and the capacity of the
dessert bowl is 265 ml. What is the total capacity of both bowls?

b. The capacity of a large bucket is 71 | and the capacity of the small
bucket is 69 . What is the difference in the capacity of both buckets?

c. Ayesha’s water bottle can hold 900 ml of water. The bottle contains
666 ml of water. How much more water needs to be added to fill it
completely?

d. The capacity of Aquarium A is 29 | and the capacity of Aquarium B is
34 |. What is the total capacity of both aquariums?




50,000 m
e. 4400 cm

2. a.
3. a.

F
o

e o o

104 m
69000 g
124000 g

. 8kg

39000 ml
8000 ml
015 ml

o S O O S O O N O

. 2500 mm
78,000

. 19km

. 6900 mg
39000 mg

. 1127 g

. 74000 |
Q1000 ml

.21

. 72300 cm
. 330 mm
. 22cm

. 326000 g
. 75000 g

. 94 kg

. 89000 ml

. 234 ml

e a8 Taa e

650 mm
8000 cm
Qkm
63000 mg
5500 mg
525¢
12000 mi

631



Bilingual Concept Builder Notes

Competency 1

Pupils will learn to identify the occurrence of time in a.m. and p.m. at specific events of the day.
Rationale: Elaborate the information given on pages 70 and 71.

Classwork: Complete Exercise A.

Competency 2

Pupils will learn to convert minutes, hours, months, and years to sub-units.

Rationale: To convert a unit to its sub-unit, we just need to multiply by the relative number which
relates both units, as

9 hours = 9 x 60 minutes = 540 minutes 1 hour = 60 minutes
9 hours = 9 x 60 minutes = 540 minutes 1 minute = 60 seconds
9 hours = 9 x 60 minutes = 540 minutes 1 year = 12 months
9 hours = 9 x 60 minutes = 540 minutes 1 month = 30 days

9 hours = 9 x 60 minutes = 540 minutes 1 week = 7 days

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to add and subtract minutes, hours, weeks, and days without carrying or borrowing
and apply it to real-life problems.

Rationale: Use examples given on pages 74 and 75 elaborate the method of adding and subtracting a
quantity mentioned with different units.

Classwork: Complete Exercise C.
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Lesson Plan

Scheme of Work

Unit 9 Measurement: Time
Estimated Number of Periods: 15

Specific Learning Outcomes Number of Periods
« Read and write the time using digital and analogue clocks on 12 hour and ,
24-hour format. 3 Periods
« Convert hours to minutes and minutes to seconds. 3 Periods
« Convert years to months, months to days, and weeks to days. 3Periods
» Add and subtract measures of time without carrying and borrowing. 2 Periods
 Solve simple real-life situations involving conversion, addition and 4 Periods
subtraction of measures of time.

Prior Knowledge Assessment

o Pupils know how to use a.m. and p.m. to record time on analogue and digital clocks.
o They are familiar with converting units of time.
o This knowledge will aid in converting between years, months, weeks, and days.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
o Analogue clock

o Clock faces showing different time

o Class timetable

» Bus/train sceduals

Written Assignments

Exercises Class Assignment Home Assignment

Exercise A | Whole Exercise .
Exercise B | Q1 (a,b,c) Q2(d, e, f) Q3 (e-1) Q4 Ql(d,e, f) Q2(a,b,c)Q3(a-d)
Exercise C [Q3 Q4 Q5 Q6 Q7 Q8 Q1 Q2

Evaluation

Ways to evaluate teaching and students learning.
o Oral assessment

o  Written assessment.

o Teacher’s assessment
e Peer assessment

o Personal assessment




Review Exercise

I. Write the time in 12-hour and 24-hour format.

Activity

12-hour 24-hour
format format

a. Aleena wakes up.

b. Aleena plays in a park.

C. Aleena takes her lunch.

d. Aleena eats her breakfast.

2. Convert the following as required.

a. 3 hours = minutes
c. 24 hours = minutes
e. 5years = months

b. 63 minutes
d. 50 minutes
f.

12 weeks

seconds
seconds

~days
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g. 10 months = days h. 22years = months
i. 2lweeks = days j. l4months = days
3. Solve the following.
a. hr  min b. min sec
08 25 38 47
+ 14 30 + 16 02
C. hr min d. months days
16 42 10 23
- 4 20 + 0l 04
e. years months f. min sec
12 10 55 42
- 10 06 -30 Ol

4. Solve the following real-life number stories.

a. A labour worked for 5 hours 30 minutes in the morning and 4 hours
23 minutes in the evening. How much longer did he work in the
morning?

b. Aliya was 5 years 3 months when she joined the basketball team. She
is now 8 years 5 months. How long has Aliya been in the team for?

c. Saad takes 5 minutes and 30 seconds to complete the jogging track
and Ali takes 4 minutes and I5 seconds to complete the track. How
much more time does Saad take?

d. The Ali family decided to visit America for 2 weeks and 5 days and to
visit England for 3 weeks and | day. How long did they spend in both
the countries?




I a. 7,00a.m., 700
d. 7:45a.m.,7 45
a. 180 min
d. 900 sec
g. 60 months
J. 264 months
3 a. 22 hr55min
d. 1l months 27 days
g. 2 years 4 months
a. I hr 7 min
d

. 5weeks and 6 days

&

o o

c x®& 70

5:30 p.m., 17 30
10:30 p.m., 22 39
3780 sec

960 min

84 days

147 days

54 min 49 sec

12 hr 22 min

5 months 19 days

. 3 years 2 months

0

0

. 1:00 p.m., 13 00

. 1440 min
3000 sec

. 300 days
. 420 days

. 7 years 10 months

25 min 4l sec

. I min |5 sec



Bilingual Concept Builder Notes

Competency 1

Pupils will learn to identify parallel and non-parallel lines.

Rationale: Use the information given on pages 77 and 78 to elaborate the concept of parallel and
non-parallel lines.

Classwork: Complete Exercise A.

Competency 2

Pupils will learn to define an angle and classify given angles into right, acute, and obtuse angles.
They will learn to use protractor to measure the given angles.

Rationale: Use the explanations given on pages 80, 81, and 82 to elaborate the concept of angle,
types of angles, and the usage of protractor to measure the given angles in degrees.

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to draw the angle with a protractor when its measurement in degrees is given.

Rationale: Use example 1 given on pages 82 to demonstrate the process of drawing an angle with the
help of a protractor.

Classwork: Complete Exercise C.

Competency 4

Pupils will learn to draw and identify centre, radius and diameter in a circle.
Rationale: Use the information given on pages 83 to elaborate the fundamental parts of a circle.

Classwork: Complete Exercise D.

Competency 5

Pupils will learn to identify the line of symmetry in a given shape as well as they will draw the other
half of the given shape about the line of symmetry on a square grid.

Rationale: Pupils have already learnt the concept of reflective symmetry and line of reflective
symmetry. Use information given on pages 84 and 85 to recap the concept of symmetry and enable
them to complete the given shape about the line of symmetry on a square grid.

Classwork: Complete Exercise E.
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Competency 6

Pupils will learn to identify cube, cuboid, cylinder, cone, sphere, and pyramid in the given 3D
objects. They will also learn to identify edges, surfaces, and vertices in a given 3D object.

Rationale: Use the information given on pages 86 and 87 to elaborate 3D objects and their
properties.

Classwork: Complete Exercise F.

Competency 7

Pupils will learn to find perimeter and area of the given shapes on a square grid.

Rationale: Use the information given on pages 90, 91, and 92 to elaborate the process of finding
perimeter and area of the given shapes on a square grid.

Classwork: Complete Exercise G.
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Lesson Plan

Scheme of Work

Unit 10 Geometry
Estimated Number of Periods: 25

Specific Learning Outcomes Number of Periods
» Recognise and identify parallel and non-parallel lines. 1 Period
« Recognise an angle formed by intersection of two rays. 1 Period
» Measure angles in degree (0) by using protractor. 2 Periods
e Draw an angle of given measurement and use the symbol (£) to 2 Periods
represent it.
« Differentiate acute, obtuse, and right angle. 2 Periods
» Measure angles using protractor where: 2 Periods

» Upper scale of protractor reads the measure of angle from left to right.
» Lower scale of protractor reads the measure of angle from right to left.

o Identify right angles in 2D shapes. 1 Period

» Describe radius, diameter and circumference of a circle. 2 Periods

» Find perimeter of a 2D figures on a square grid 2 Periods

» Recognise that perimeter is measured in units of length. 1 Period

» Find area of 2D figures on a square grid. 2 Periods

« Recognise that area of a square is measured in metre square (m?*) and 1 Period
centimetre square (cm?).

» Recognise lines of symmetry in two-dimensional (2D) shapes. 2 Periods

« Complete a symmetrical figure with respect to a given line of symmetry 2 Periods
on square grid/dot pattern.

o Compare and sort 3-D objects (cubes, cuboids, pyramids, cylinder, cone, 2 Periods
sphere).

Prior Knowledge Assessment

o Students recognize 3-D and 2-D shapes from daily life.
« They've seen and handled objects like:
o Sphere (ball)
o Cube (dice)
o Cuboid (toothpaste box, lunch box)
o Cone (ice cream cone)
« They've felt flat shapes like:
o Square (floor tile)
o Rectangle (windowpane)
o Circle (round plate)
« They have a visual idea of these shapes but often confuse the names.




o At thislevel, their understanding of shapes becomes more formal.

Resources

Suggested manipulatives that can be used to create interest and create a link to the topic.
Blank paper chits
Centimeter grid
Playdough
Square grid paper

X

Q

Perimeter = cn
Perimeter
Y Z R Area = cm? n

rea

=]




Written Assignments

Exercises | Class Assignment Home Assignment
Exercise A | Whole Exercise ..

Exercise B |Ql Q2(e-h) Q3 (c-f) Q4 Q2(a-d) Q3(a,b)
Exercise C | Q1 (d -1i) Q1 (a, b, ¢)

Exercise D | Q1 Q2

Exercise E | Q1 Q2 (b, c, e, f) Ql(a, d)

Exercise F |Ql1b(c,d,e) Q2 Q1 (a,b)

Exercise G |Ql (a-d) Q2 (a,b,e f g h)) Ql(e, f) Q2(cd)
Evaluation

Ways to evaluate teaching and students learning.

e Oral assessment

Written assessment.
Teacher’s assessment
Peer assessment
Personal assessment




Review Exercise

Review Exercise
I. Look at the following parts.

a. b. C.

.
d. // e. H f.

Answer the questions?
a. Which parts contain acute angle?

b. Which part contains obtuse angles?

c. Which part contains right angles?

d. Which parts contain parallel lines?

2. Measure these angles using protractor.

L

a.\o\
YR

[o}




3. Use the base line to construct the angles using protractor.

a. b.

80° 155°

25° 100°

4. Classify these angles as acute, obtuse and right angle.

~
—

5. Here are some shapes. Draw a circle over all the right angles.

N
NS

H

a. b.

[~
c. d. D
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6. Write names of parts of the given circle using following letters.

[AB,C,D] ;

a. Centre: b. Radius: 4
c. Diameter: d. Circumference: -
7. How many lines of symmetry do the following shapes have?

a. . b. c. - d. *
8. Complete each shape with respect to the given line of symmetry. Lines of

symmetry are shown by dotted lines.
G.°.°.°°7°.°.°.° b. C.

—

f::iﬁfifi:?

+
)

9. Fill in the banks using the given word bank.

[ cone cylinder circular cube triangular cuboid ]
a. and have same number of edges.
b. Pyramid with a square base has faces.
C. has two circular faces.
d. has only one vertex.
e. Cone hasonlyone surface.




10. Identify the 3D shapes using the riddles given.

Riddles Who am I?

a. | have no edges.
I have no vertices.
I only have a curved surface.

b. | I have 8 vertices.

I have 6 surfaces.

All my faces are square in shape.

c. |Ihave 8 vertices.

I have 6 faces.

I am not a cube.

My faces can be rectangle and square
in shape.

d. | Ihave 5 vertices.

I have 5 surfaces.

4 surfaces are triangular in shape.
e. |IThave 2 surfaces.

I have one edge that is curved.

I have 1 vertex.

Il. Find out the perimeter and area of the following shape if it is drawn on
I metre grid. Choose the correct unit.

Perimeter = cm/m

Area = cm?2/m?




|
2
A

10
I

a. ¢ b. dand f
a. 30° b. 150°

a. Acute angle

d. Acute angle

g. Obtuse angle

a. C b. CD

a. 4 b. 5

g. | h. |

a. Cube and cuboid

a. Sphere b. Cube

Perimeter =16 m

c.aande d. b

c. 50° d. 170°

b. Obtuse angle

e. Right angle

h. Acute angle

c. AB d. ABDA
c. 2 d. |

i | jo 1

b. 5 c. Cylinder
c. Cuboid d. Pyramid

Area =1l m?

c. Obtuse angle
f. Obtuse angle
i. right angle

e. 0 f. |
k. 4
d. Cone e. flat

e. Cone



Data Handling

Bilingual Concept Builder Notes

Competency 1

Pupils will learn to read and interpret vertical and horizontal bar graphs.
Rationale: Use examples 1 and 2 given on pages 95 and 96 respectively to elaborate Bar Graphs.

Classwork: Complete Exercise A.

Competency 2

Pupils will learn to read and interpret line graph.

Rationale: Use example given on page 100 to enable your pupils to read and comprehend given line
graph and answer the questions regarding the line graph.

Classwork: Complete Exercise B.

Competency 3

Pupils will learn to read and interpret Pie Chart on the basis of relative size of each given part.

Rationale: Use example given on page 102 to enable your pupils to read and comprehend given Pie
Chart and answer the questions regarding each sector of the Pie Chart.

Classwork: Complete Exercise C.
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SSSSSSSSSSSSSSS Lesson Plan
Scheme of Work
Unit 11 Data Handling
Estimated Number of Periods:
Specific Learning Outcomes Number of periods

« Read simple bar graphs given in horizontal and vertical form.
o+ Interpret real-life situations using data presented in bar graphs.

« Read line graph.
o Interpret real-life situations using data presented in line graphs.

o Read pie chart.
 Interpret real-life situations using data presented in pie chart.

Prior Knowledge Assessment

o Pupils should be proficient in using tally charts and representing data in tables.
o They have learned to interpret picture graphs and will use this knowledge to interpret bar and
line graphs by counting intervals on the horizontal and vertical axes.

Resources
Suggested manipulatives that can be used to create interest and create a link to the topic.
Pie Chart Bar Graph
6
4
0
Written Assignments
Exercises | Class Assignment Home Assignment
Exercise A | Q1 (a,b,c) Q2 (a,b) Q1 (d)

Exercise B | Q1 (a, b)
Exercise C | Q1 Q2




Evaluation

Ways to evaluate teaching and students learning.

Oral assessment
Written assessment.
Teacher’s assessment
Peer assessment
Personal assessment



Review Exercise

I. Class 4 of a school surveyed how they travelled to school. They showed
the results using a bar graph given below.

Use the bar graph to answer the following. 0 L
a. How many children travelled to school by E T
8 —_—
3
i. car? &7+
o
.. 50T
ii. van? 25T
z4T
iii. bike? 3
. . 2 +
b. How many children were there in s
class 4? car van walk bike

c. How many more children travelled by car than by bike?

2. Furgan works in an ice-cream shop. The bar graph shows the number of
ice-creams sold over five days.

Ice-creams Sold

Friday
Thursday
Wednesday
Tuesday

Monday

0 50 100 150 200 250 300 350 400 450 500
Number of ice-creams

Use the bar graph to answer the questions.
a. 400 ice-creams were sold on
b. The same number of ice-creams was sold on and




] 0 OXFORD
Review Exercise . Guersiy eress

c. How many more ice-creams were sold on Tuesday than Thursday?

d. Which day is the busiest in all?

3. The line graph shows the number of vacuum cleaners sold by an
electronics store every month from January to May.

Look at the line graph and answer the Number of Vacuum Cleaners Sold
questions. 60
a. How many vacuum cleaners were l ) ISR ISUURRNOON IORRRRORY NEURTOO
sold in March? ° \
b. At which month did the store sell § 40
the greatest number of vacuum § I \
cleaners? £ 30 N\
c. How many more vacuum cleaners S \
were sold in April than in March? 5 20
() Locoocacoallossooconccalossononcaalcosoncocoolcoscacoaoo
£
d. What is the difference in the =0
number of vacuum cleaners sold in
April and in May? )O“Uow?e\c(\)oﬂ‘i g\o(d\ b o

Months —>

4. The pie chart shows the number of books of different genres on a book
shelf. Read the pie chart and answer the following.

a. How many books are there on
the shelf?

b. How many non-fiction books are there?

¢. How many horror books are there on the shelf?




I a. i. 10 children
b. 32 children
2. a. Wednesday

c. 100 ice- creams
3. a. 40 vacuum cleaners
d. 40 vacuum cleaners
4. a. 132 books

ii. 6 children
b. Monday and Thursday
d. Friday

b. April  c. I5more

b. 22 non-fiction books

iii. 5 children

c. 33 horror books



